EARAROBEEIERT — 2 N— IBISH —F

2016518170 (H) 15E=H1AE

ol 3% — 1 Y5R3% (w8 | mEmml - |5 5) w8
[A&4£] 1% :100,000 ™ ~ 23#&:25000M”  33%&:12,000 M  43%&:8,000H ~ 53 :5,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R R =RpesE .07, _q-1— . — RIFFES (B)
11111 7R>FvEF SR 1(2_7)9 B ° (‘_1?2) %;‘éﬁé
R:@yamAay BN RLN—ZTA Kk ER
PN o FREER :98. = . = TEEET (5H)
2 2 EXT 24— 4 3 aid 1(228)3 2-2-3-2 | 41.9 1 (4—4‘8 e
RhrEXY BFFaILTUY HE45
= i 3 | BEERRAEE 1:28.6 5-4-4-4 | 4.7| — 2 482 | BUFFEE (BHE)
3|5|5| 7 17% 54 (1 1/2) 1) |EHEX
R:OyavAny BYv—FA1HAT Ea)405
. 4 3 | HEKE 1:28.9 6-6-5-5 |41.9| — 4 | 4 | EIIBSE (SAE)
4 6 YIXAL M) — )5%0 (a 1/2) (-4) B3
R:O-Y X124 B:F—-X3ITFv¥— NK EER
s 3 | EIFEL 1:29.5 3-3-2-3 |43.2| — 3 422 | RIFFEE] (&)
N IS 0] S @ (| linE
LY LTAN—F BKYIFATT #HA RE
EEEE :34. -5-6- 9| - EHE— (B
5 3 ANNF Uy it 3 o (1&3{4% 4-5-6-6 | 46.9 6 (4+014) Eﬁ%é%
RFHVRTIRE BAFAIF—4— RS
® 1—F—@EBIERL
13l=3F= 1,2,4,3,5,6
20—F— 1,2,4,5,3,6
S§a=7r= 1,4,2,5,6,3
40—+ — 1,2,4,5,6,3
[ N5
B 1 1,870M 714K 1-2 290 B E 1-2 840M JEE 1-2-5 960M
BB 1 240 155 9304 B H 1-2 2,700M 3EE 1-2-5 8,830M
2 100M 2-5 1504

ABICOVWTRDTEEERROODE. TR LIV,




